2 (x=2)(x+1)

x(x+1)

oA 4 5

g, 2] ke Fofoler,

Y h=E
=%

3

94

=
a

1
T

=
o

ZF
2l

ro

1
.

tlo

R



1287 4] k% - 8x + 4 =0 ©] 2] 55 Fotolet,

S EE 2l



fijo

2
m
+
x4+
m
2
+
5
=0
o
]
5
=<
Ay
7]

9]

ot

lo



O|AFFA A x% + Ax - 21 =0 9] T+°] x
e

s
=¥

rr



O|ZPFA A 2x24-8x+3 = 0 o] T
o] gr& ot

s
=¥

TSk, mole



6. OlABAA (r+2)2 = 20 ] G 2ol —24 V3 L W, §21%a O] S
Fstoler,

& e
-



7. OlXMAHA x2 —5xta =029 g Zo] 201,
bx+36=02 3t Zd o b—a o FS 5+

e =
c

T2 g o] 22 -
e,



7F54 70 Q1

=~
T

3) olct, gzt

s n(n—
T2

;O

B
.

7H



Ao RH 30m Q1 A4 1 2ol 15m o w272 dAEd
% 50| 0|2 pm 2t SFH h = —52 + 15¢ 4+ 30 Q1 THA|7}
Hetoh WAL $ 3 x 99 o] & Fotolet



10.

the a1} go) 7k, A2 o] Zolst zkzt - t6eme .

16cm , 8cm 1 ZARZFE ABCD oA A A= -
PEABYSE A ANABZAIA W% 1em P 8em
o £eor 2oy, F QEBCHAE A .

B C
B oA A C7HA tx 2cm 9 £8oz Q

%Z]l?_].\:]— —?XSP Q7]—7]—71—X4A BEE/\]Oﬂ %%—@'EH?{E—E’T—

o APBQ 2] Wol7} 15cm? 7} HE=2] 5% JL5loda},
kR z
S ER

B



